CHEMTECH

OVENTEMP IN Celsius(°C): 107

0C:LB102467

Time IN: 16:00

PERCENT SOLID

In Date: 05/01/2019
Weight Check 1.0g: 1.00

Weight Check 10g: 10.00
OvenID: M OVEN-1

Supervisor:
Analyst:
Date:

OVENTEMP OUT Celsius (°C):
Time OUT:

Out Date:

Weight Check 1.0g:
Weight Check 10g:
BalancelD:

Thermometer ID:

apatel
jignesh
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07:42
05/02/2019
1.00

10.00

M SC-1

%SOLIDS-OVEN

. . . Dish + Dish + Dry .

Lab ID Client Sample ID Dish# | Dish Wt(g) e —_— Y — % Solid
—_— Sample Wt(g) Sample Wt (g)
2) (B) (C)

K2633-01 GAJ95 1 1.15 9.51 8.51 88.0
K2633-02 GAJI95MS 2 1.15 9.51 8.51 88.0
K2633-03 GAJ95MSD 3 1.15 9.51 8.51 88.0
K2633-04 GAJ96 4 1.16 9.63 9.11 93.9
K2633-05 GAJ97 5 1.15 9.63 9.2 94.9
K2633-06 GAJ98 6 1.15 9.82 9.56 97.0
K2633-07 GAJ99 7 1.14 9.92 9.47 94.9
K2633-08 GAJAQ 8 1.16 9.61 9.34 96.8
K2633-09 GAJAl 9 1.17 9.69 8.12 81.6
K2633-10 GAJA2 10 1.15 9.98 9.1 90.0
K2633-11 GAJA3 11 1.15 9.75 8.15 81.4
K2633-12 GAJA4 12 1.15 9.97 8.55 83.9
K2633-13 GAJAS 13 1.15 9.72 8.5 85.8
K2633-14 GAJA6 14 1.14 9.88 9.47 95.3
K2633-15 GAJA7 15 1.15 9.59 8.19 83.4
K2633-16 GAJAS 16 1.15 9.93 8.94 88.7
K2633-17 GAJA9 17 1.13 9.74 9.52 97.4
K2633-18 GAJBO 18 1.14 9.72 9.36 95.8
K2633-19 GAJB1 19 1.15 9.7 7.76 77.3
K2633-20 VHBLKO1 20 1.00 2.00 2.00 100.0

% Solid =

(C-A) * 100
(B-A)
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